BANK BRADESCO Form 6-K January 11, 2016

UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of January, 2016 Commission File Number 1-15250

BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

BANK BRADESCO

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-FX Form 40-F
Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.
Yes NoX

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In December 2015 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family (x) Controller's

Dependants

_			•		
7	nn	nn	Ina	L	anaa
u	IJ:			Dal	lance
_	~				~

Type of Securities/Derivatives				Quantity	% of participation
					Same type of Total
				Shares	
Common Shares				1,844,382,928	73.0632 36.5316
Ne	on-Voting Shares			56,949,357	2.2559 1.1279
	•	onth Move	ment	, ,	
Type of	Broker	Operation	Day	Quantity Price	Value in R\$
Securities/Derivatives		·	•	•	
Non-Voting Shares		Buy	16-Dec	25 20.69	R\$ 517.25
Non-Voting Shares		Buy	16-Dec	100 20.14	R\$ 2,014.00
Non-Voting Shares		Buy	16-Dec	100 20.20	R\$ 2,020.00
Non-Voting Shares		Buy	16-Dec	200 20.22	R\$ 4,044.00
Non-Voting Shares		Buy	16-Dec	100 20.23	R\$ 2,023.00
Non-Voting Shares	Dradage C A	Buy	16-Dec	100 20.24	R\$ 2,024.00
Non-Voting Shares	Bradesco S.A.	Buy	16-Dec	200 20.27	R\$ 4,054.00
Non-Voting Shares	C.T.V.M.	Buy	16-Dec	100 20.28	R\$ 2,028.00
Non-Voting Shares		Buy	16-Dec	100 20.30	R\$ 2,030.00
Non-Voting Shares		Buy	16-Dec	100 20.32	R\$ 2,032.00
Non-Voting Shares		Buy	16-Dec	100 20.34	R\$ 2,034.00
Non-Voting Shares		Buy	16-Dec	200 20.36	R\$ 4,072.00
Non-Voting Shares		Buy	16-Dec	100 20.37	R\$ 2,037.00

Non-Voting Shares	Buy	16-Dec	100	20.40	R\$ 2,040.00
Non-Voting Shares	Buy	16-Dec	100	20.42	R\$ 2,042.00
Non-Voting Shares	Buy	16-Dec	200	20.44	R\$ 4,088.00
Non-Voting Shares	Buy	16-Dec	200	20.45	R\$ 4,090.00
Non-Voting Shares	Buy	16-Dec	300	20.46	R\$ 6,138.00
Non-Voting Shares	Buy	16-Dec	100	20.48	R\$ 2,048.00
Non-Voting Shares	Buy	16-Dec	100	20.49	R\$ 2,049.00
Non-Voting Shares	Buy	16-Dec	500	20.50	R\$ 10,250.00
Non-Voting Shares	Buy	16-Dec	200	20.51	R\$ 4,102.00
Non-Voting Shares	Buy	16-Dec	1,100	20.59	R\$ 22,649.00
Non-Voting Shares	Buy	16-Dec	700	20.60	R\$ 14,420.00
Non-Voting Shares	Buy	16-Dec	1,200	20.61	R\$ 24,732.00
Non-Voting Shares	Buy	16-Dec	2,100	20.62	R\$ 43,302.00
Non-Voting Shares	Buy	16-Dec	2,300	20.63	R\$ 47,449.00
Non-Voting Shares	Buy	16-Dec	1,400	20.64	R\$ 28,896.00
Non-Voting Shares	Buy	16-Dec	200	20.65	R\$ 4,130.00
Non-Voting Shares	Buy	16-Dec	2,100	20.66	R\$ 43,386.00
Non-Voting Shares	Buy	16-Dec	2,400	20.67	R\$ 49,608.00
Non-Voting Shares	Buy	16-Dec	2,000	20.68	R\$ 41,360.00
Non-Voting Shares	Buy	16-Dec	1,800	20.69	R\$ 37,242.00
Non-Voting Shares	Buy	16-Dec	8,200	20.70	R\$ 169,740.00
Non-Voting Shares	Buy	16-Dec	3,000	20.71	R\$ 62,130.00
Non-Voting Shares	Buy	16-Dec	24,200	20.72	R\$ 501,424.00
Non-Voting Shares	Buy	16-Dec	4,700	20.73	R\$ 97,431.00
Non-Voting Shares	Buy	16-Dec	18,800	20.74	R\$ 389,912.00
Non-Voting Shares	Buy	16-Dec	900	20.75	R\$ 18,675.00

Non-Voting Shares	Buy	16-Dec	1,700	20.76	R\$ 35,292.00
Non-Voting Shares	Buy	16-Dec	900	20.80	R\$ 18,720.00
Non-Voting Shares	Buy	16-Dec	900	20.81	R\$ 18,729.00
Non-Voting Shares	Buy	16-Dec	1,800	20.83	R\$ 37,494.00
Non-Voting Shares	Buy	16-Dec	1,700	20.84	R\$ 35,428.00
Non-Voting Shares	Buy	16-Dec	1,300	20.87	R\$ 27,131.00
Non-Voting Shares	Buy	16-Dec	900	20.88	R\$ 18,792.00
Non-Voting Shares	Buy	16-Dec	700	20.89	R\$ 14,623.00
Non-Voting Shares	Buy	16-Dec	1,700	20.90	R\$ 35,530.00
Non-Voting Shares	Buy	16-Dec	2,800	20.91	R\$ 58,548.00
Non-Voting Shares	Buy	16-Dec	3,200	20.92	R\$ 66,944.00
Non-Voting Shares	Buy	16-Dec	3,700	20.93	R\$ 77,441.00
Non-Voting Shares	Buy	16-Dec	4,500	20.94	R\$ 94,230.00
Non-Voting Shares	Buy	16-Dec	7,000	20.95	R\$ 146,650.00
Non-Voting Shares	Buy	16-Dec	900	20.96	R\$ 18,864.00
Non-Voting Shares	Buy	16-Dec	7,100	20.97	R\$ 148,887.00
Non-Voting Shares	Buy	16-Dec	900	20.99	R\$ 18,891.00
Non-Voting Shares	Buy	16-Dec	2,600	21.00	R\$ 54,600.00
Non-Voting Shares	Buy	16-Dec	1,800	21.01	R\$ 37,818.00
Non-Voting Shares	Buy	16-Dec	1,500	21.03	R\$ 31,545.00
Non-Voting Shares	Buy	16-Dec	200	21.04	R\$ 4,208.00
Non-Voting Shares	Buy	16-Dec	900	21.05	R\$ 18,945.00
Non-Voting Shares	Buy	16-Dec	3,000	21.08	R\$ 63,240.00
Non-Voting Shares	Buy	16-Dec	1,100	21.09	R\$ 23,199.00
Non-Voting Shares	Buy	16-Dec	900	21.10	R\$ 18,990.00
Non-Voting Shares	Buy	16-Dec	2,200	21.11	R\$ 46,442.00

Non-Voting Shares	Buy	18-Dec	77	20.08	R\$ 1,546.16
Non-Voting Shares	Buy	18-Dec	600	19.48	R\$ 11,688.00
Non-Voting Shares	Buy	18-Dec	300	19.49	R\$ 5,847.00
Non-Voting Shares	Buy	18-Dec	200	19.50	R\$ 3,900.00
Non-Voting Shares	Buy	18-Dec	300	19.51	R\$ 5,853.00
Non-Voting Shares	Buy	18-Dec	200	19.53	R\$ 3,906.00
Non-Voting Shares	Buy	18-Dec	400	19.54	R\$ 7,816.00
Non-Voting Shares	Buy	18-Dec	400	19.55	R\$ 7,820.00
Non-Voting Shares	Buy	18-Dec	100	19.56	R\$ 1,956.00
Non-Voting Shares	Buy	18-Dec	400	19.58	R\$ 7,832.00
Non-Voting Shares	Buy	18-Dec	100	19.59	R\$ 1,959.00
Non-Voting Shares	Buy	18-Dec	100	19.62	R\$ 1,962.00
Non-Voting Shares	Buy	18-Dec	200	19.65	R\$ 3,930.00
Non-Voting Shares	Buy	18-Dec	400	19.66	R\$ 7,864.00
Non-Voting Shares	Buy	18-Dec	100	19.67	R\$ 1,967.00
Non-Voting Shares	Buy	18-Dec	300	19.68	R\$ 5,904.00
Non-Voting Shares	Buy	18-Dec	200	19.70	R\$ 3,940.00
Non-Voting Shares	Buy	18-Dec	400	19.72	R\$ 7,888.00
Non-Voting Shares	Buy	18-Dec	300	19.73	R\$ 5,919.00
Non-Voting Shares	Buy	18-Dec	700	19.74	R\$ 13,818.00
Non-Voting Shares	Buy	18-Dec	800	19.75	R\$ 15,800.00
Non-Voting Shares	Buy	18-Dec	900	19.76	R\$ 17,784.00
Non-Voting Shares	Buy	18-Dec	400	19.77	R\$ 7,908.00
Non-Voting Shares	Buy	18-Dec	300	19.78	R\$ 5,934.00
Non-Voting Shares	Buy	18-Dec	300	19.79	R\$ 5,937.00
Non-Voting Shares	Buy	18-Dec	200	19.80	R\$ 3,960.00

Non-Voting Shares	Buy	18-Dec	100	19.81	R\$ 1,981.00
Non-Voting Shares	Buy	18-Dec	200	19.82	R\$ 3,964.00
Non-Voting Shares	Buy	18-Dec	300	19.84	R\$ 5,952.00
Non-Voting Shares	Buy	18-Dec	200	19.85	R\$ 3,970.00
Non-Voting Shares	Buy	18-Dec	200	19.87	R\$ 3,974.00
Non-Voting Shares	Buy	18-Dec	500	19.88	R\$ 9,940.00
Non-Voting Shares	Buy	18-Dec	400	19.89	R\$ 7,956.00
Non-Voting Shares	Buy	18-Dec	100	19.90	R\$ 1,990.00
Non-Voting Shares	Buy	18-Dec	100	19.91	R\$ 1,991.00
Non-Voting Shares	Buy	18-Dec	700	19.92	R\$ 13,944.00
Non-Voting Shares	Buy	18-Dec	300	19.93	R\$ 5,979.00
Non-Voting Shares	Buy	18-Dec	900	19.94	R\$ 17,946.00
Non-Voting Shares	Buy	18-Dec	600	19.95	R\$ 11,970.00
Non-Voting Shares	Buy	18-Dec	600	19.96	R\$ 11,976.00
Non-Voting Shares	Buy	18-Dec	800	19.97	R\$ 15,976.00
Non-Voting Shares	Buy	18-Dec	100	19.99	R\$ 1,999.00
Non-Voting Shares	Buy	18-Dec	200	20.00	R\$ 4,000.00
Non-Voting Shares	Buy	18-Dec	500	20.02	R\$ 10,010.00
Non-Voting Shares	Buy	18-Dec	600	20.03	R\$ 12,018.00
Non-Voting Shares	Buy	18-Dec	500	20.05	R\$ 10,025.00
Non-Voting Shares	Buy	18-Dec	800	20.06	R\$ 16,048.00
Non-Voting Shares	Buy	18-Dec	1,300	20.07	R\$ 26,091.00
Non-Voting Shares	Buy	18-Dec	900	20.08	R\$ 18,072.00
Non-Voting Shares	Buy	18-Dec	1,500	20.09	R\$ 30,135.00
Non-Voting Shares	Buy	18-Dec	1,800	20.10	R\$ 36,180.00
Non-Voting Shares	Buy	18-Dec	1,700	20.11	R\$ 34,187.00

Non Voting Charge	Puy 19 Doo	600 20.12	R\$ 12,072.00				
Non-Voting Shares	Buy 18-Dec		. ,				
Non-Voting Shares	Buy 18-Dec	700 20.13	R\$ 14,091.00				
Non-Voting Shares	Buy 18-Dec	300 20.14	R\$ 6,042.00				
Non-Voting Shares	Buy 18-Dec	900 20.15	R\$ 18,135.00				
Non-Voting Shares	Buy 18-Dec	1,200 20.16	R\$ 24,192.00				
Non-Voting Shares	Buy 18-Dec	800 20.17	R\$ 16,136.00				
Non-Voting Shares	Buy 18-Dec	1,400 20.18	R\$ 28,252.00				
Non-Voting Shares	Buy 18-Dec	800 20.19	R\$ 16,152.00				
Non-Voting Shares	Buy 18-Dec	900 20.20	R\$ 18,180.00				
Non-Voting Shares	Buy 18-Dec	200 20.21	R\$ 4,042.00				
Non-Voting Shares	Buy 18-Dec	600 20.22	R\$ 12,132.00				
Non-Voting Shares	Buy 18-Dec	200 20.23	R\$ 4,046.00				
Non-Voting Shares	Total 1	69,502	R\$ 3,497,827.41				
Non-Voting Shares	Sell 16-Dec 13	36,325 20.79	R\$ 2,834,196.75				
Non-Voting Shares Bradesco S.A.	C.T.V.M. Sell 18-Dec	33,177 19.96	R\$ 662,212.92				
Non-Voting Shares	Total 1	69,502	R\$ 3,496,409.67				
Closing Balance							

Type of Securities/Derivatives
Quantity
% of participation
Same type of Shares
Total
Common Shares
1,844,382,928
73.063236.5316
Non-Voting Shares
56,949,357
2.2559
1.1279

7

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In December 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A. Group and Family Dependants	(x)Board of Directors	() Board of Executive Officers	() Audit Committee	() Technic Advisory Aç	
	Openning E	Balance			
Type of Securities/	Derivatives		Quantity	% of partici	pation
				Same type	Total
				of Shares	
Common Sh	ares		15,179,982	0.6013	0.3006
Non-Voting S	hares		24,254,704	0.9608	0.4804
•	Closing Ba	alance			
Type of Securities/	Derivatives		Quantity	% of partici	pation
•			•	Same type	Total
				of Shares	
Common Sh	ares		15,179,982	0.6013	0.3006
Non-Voting S	hares		24,254,704	0.9608	0.4804
•					

Company: Bradesco Leasing S.A. Arre Group and Family Dependants	endamento Me (x)Board of Directors	rcantil () Board of Executive Officers	() Audit Committee	() Technic Advisory Ag	
	Openning E	alance			
Type of Securities/D)erivatives		Quantity	% of partic	ipation
,,			·	Same type of Shares	Total
Common Sha	ires		0	0.0000	0.0000
Non-Voting Sh	ares		0	0.0000	0.0000
· ·	Closing Ba	lance			
Type of Securities/D	erivatives		Quantity	% of partic	ipation
. .			·	Same type of Shares	Total

Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In December 2015 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Brad	desco S.A.					
Group and Family	(X) Board of Ex		() Audit		() Technical and	
Dependants	Directors	Officers		Commi	ttee	Advisory Agencies
_		lance				
Туре	of Securities/De	erivatives		Quant	•	% of participation
						Same type of Total
	Carrage and Char			00 004	Shares	
	Common Shar				38,824	0.0054 0.0027
	Non-Voting Sha	res Month Move	mont	2,4	96,777	0.0989 0.0494
Type of	Broker	Operation		Quantity	Price	Value in R\$
Securities/Derivatives	DIOKEI	Operation	Day	Quartity	FIICE	value III no
Common Shares		Buy	28-Dec	1	21.46	R\$ 21.46
Common Shares		Total	20 Dec	1	21.40	R\$ 21.46
Non-Voting Shares		Buy	18-Dec	2,100	19.49	R\$ 40,929.00
Non-Voting Shares		Buy	18-Dec	2,900	19.50	R\$ 56,550.00
Non-Voting Shares		Buy	21-Dec	5,000	19.40	R\$ 97,000.00
Non-Voting Shares		Buy	28-Dec	2	19.60	R\$ 39.20
Non-Voting Shares		Total		10,002		R\$ 194,518.20
Non-Voting Shares		Sell	16-Dec	2,000	20.42	R\$ 40,840.00
Non-Voting Shares		Sell	16-Dec	1,000	20.47	R\$ 20,470.00
Non-Voting Shares		Sell	17-Dec	1,000	20.67	R\$ 20,670.00
Non-Voting Shares	Bradesco S.A.	Sell	22-Dec	29	19.29	R\$ 559.41
Non-Voting Shares	C.T.V.M.	Sell	22-Dec	1,000	19.43	R\$ 19,430.00
Non-Voting Shares		Sell	3-Dec	17	22.02	R\$ 374.34
Non-Voting Shares		Sell	3-Dec	63	22.05	R\$ 1,389.15
Non-Voting Shares		Sell	3-Dec	800	22.04	R\$ 17,632.00
Non-Voting Shares		Sell	4-Dec	400	21.36	R\$ 8,544.00
Non-Voting Shares		Sell	4-Dec	500	21.37	R\$ 10,685.00
Non-Voting Shares		Sell	18-Dec	10	20.05	R\$ 200.50
Non-Voting Shares		Sell	18-Dec	1,500	20.01	R\$ 30,015.00
Non-Voting Shares		Sell	18-Dec	359	19.70	R\$ 7,072.30
Non-Voting Shares		Sell	18-Dec	605	19.71	R\$ 11,924.55
Non-Voting Shares		Total		9,283		R\$ 189,806.25
Closing Balance						
туре	of Securities/De	erivatives		Quant	ııy	% of participation

Same type of Total

Shares

 Common Shares
 138,825
 0.0054 0.0027

 Non-Voting Shares
 2,497,496
 0.0989 0.0494

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In December 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A. Group and Family Dependants	()Board of Directors	() Board of Executive Officers	(X) Audit Committee	() Technic Advisory Aç	
	Openning E	Balance			
Type of Securities/[Derivatives		Quantity	% of partici	ipation
				Same type	Total
				of Shares	
Common Sha	ares		30,471	0.0012	0.0006
Non-Voting Sh	nares		443,758	0.0175	0.0087
•	Closing Ba	alance			
Type of Securities/[Derivatives		Quantity	% of partici	ipation
• •			•	Same type	Total
				of Shares	
Common Sha	ares		30,471	0.0012	0.0006
Non-Voting Sh	nares		443,758	0.0175	0.0087

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In December 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A. Group and Family Dependants	()Board of Directors	() Board of Executive Officers	() Audit Committee	(x) Technic Advisory Aç	
	Openning E	Balance			
Type of Securities/	Derivatives		Quantity	% of partici	pation
			-	Same type	Total
				of Shares	
Common Sh	ares		1,540	0.0000	0.0000
Non-Voting S	hares		3,976	0.0001	0.0000
_	Closing Ba	alance			
Type of Securities/	Derivatives		Quantity	% of partici	pation
				Same type	Total
				of Shares	
Common Sh	ares		1,540	0.0000	0.0000
Non-Voting S	hares		3,976	0.0001	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In December 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Banco Bradesco S.A. CPF/CNPJ: 60.746.948/0001-12

Qualification: Treasury

Openning Balance

Opening Balance			
Type of Securities/Derivatives	Quantity % of participation		
		Same type	Total
		of Shares	
Common Shares	3,669,932	0.1453	0.0726
Non-Voting Shares	15,066,762	0.5968	0.2984
Closing Balance			
Type of Securities/Derivatives	Quantity	% of partic	cipation
		Same type	Total
		of Shares	
Common Shares	3,669,932	0.1453	0.0726
Non-Voting Shares	15,066,762	0.5968	0.2984

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: 2bCapital Participações Ltda CPF/CNPJ: 11.814.208/0001-60

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type Total

of Shares

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type Total of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: 2bCapital S.A CPF/CNPJ: 07.063.675/0001-29

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type Total
of Shares

0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

Same type of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: ADC Bradesco - Associação Desportiva Classista CPF/CNPJ: 51.244.101/0001-49

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type Total
of Shares

Common Shares

0 0.0000 0.0000
Non-Voting Shares

0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type
Total

of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Ágora Corretora de Títulos e Valores Mobiliários S.A CPF/CNPJ: 74.014.747/0001-35

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	% of participation		
• •	•	Same type Total		Total
		of Shares		
Common Shares		0	0.0000	0.0000
Non-Voting Shares		0	0.0000	0.0000
Closing Balance				
Type of Securities/Derivatives	Quantity	% of participation		
		S	ame type	Total
		of Shares		
Common Shares		0	0.0000	0.0000
Non-Voting Shares		0 0.0000 0.000		

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Ágora Educacional Ltda CPF/CNPJ: 09.544.124/0001-02

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

Same type
Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type
0 0.0000
0.0000
0.0000

Closing Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

Same type of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Aicaré Holdings Ltda CPF/CNPJ: 09.235.141/0001-68

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	% of participation Same type Total		cipation
				Total
		f Shares		
Common Shares		0	0.0000	0.0000
Non-Voting Shares		0	0.0000	0.0000
Closing Balance				
Type of Securities/Derivatives	Quantity	% of participation		cipation
		S	ame type	Total

Common Shares 0 0.0000 0.0000
Non-Voting Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Alvorada Administradora de Cartões Ltda CPF/CNPJ: 01.382.421/0001-97

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	% of participation		
		Same type Total		Total
		of Shares		
Common Shares		0	0.0000	0.0000
Non-Voting Shares		0	0.0000	0.0000
Closing Balance				

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Alvorada Companhia Securitizadora de Créditos

Name: Financeiros CPF/CNPJ: 03.572.412/0001-94

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity		% of partic	ipation
		Sa	ame type	Total
		0	f Shares	
Common Shares		0	0.0000	0.0000
Non-Voting Shares		0	0.0000	0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type Total of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Alvorada Serviços e Negócios Ltda CPF/CNPJ: 50.991.421/0001-08

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type
Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type
0 0.0000
0.0000
0.0000

Closing Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

Same type of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Amapari Holdings S.A CPF/CNPJ: 15.012.678/0001-61

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type
Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type
0 0.0000
0.0000
0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type Total of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Andorra Holdings S.A CPF/CNPJ: 08.503.501/0001-00

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type Total
of Shares

Common Shares

0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type Total

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Aporé Holdings S.A CPF/CNPJ: 15.011.651/0001-54

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type
Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type
0 0.0000
0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type Total

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

26

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Aquarius Holdings Ltda CPF/CNPJ: 04.866.440/0001-87

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type
Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type
0 0.0000
0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type Total of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Aranaú Holdings S.A CPF/CNPJ: 15.011.846/0001-02

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type
Total
of Shares

Common Shares

0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000 Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type Total

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ARFAB - Associação Recreativa dos Funcionários da CPF/CNPJ:

Name: Atlântica-Bradesco 42.413.153/0001-00

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type Total

of Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type Total

of Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Atlântica Companhia de Seguros CPF/CNPJ: 33.151.291/0001-78

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

Type of Securities/Derivatives	Quantity	% of participation		
		S	ame type	Total
		of Shares		
Common Shares		0 0.0000 0.0		
Non-Voting Shares		0	0.0000	0.0000
Closing Balance				
Type of Securities/Derivatives	Quantity	% of participation		pation
		S	ame type	Total
		0	f Shares	
Common Shares		0	0.0000	0.0000

0

0.0000

0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Baíra Holdings Ltda CPF/CNPJ: 10.429.085/0001-81

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type
Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type
0 0.0000
0.0000

Non-Voting Shares 0 0.0 Closing Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

Same type of Shares

Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Banco Alvorada S.A CPF/CNPJ: 33.870.163/0001-84

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type
Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type
0 0.0000
0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type Total of Shares

Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Banco Boavista Interatlântico S.A CPF/CNPJ: 33.485.541/0001-06

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

Same type
Total
of Shares

Common Shares

7,904
0.0003
0.0001
Non-Voting Shares

7,585
0.0003
0.0001

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Shares

Total

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Banco Bradescard S.A CPF/CNPJ: 04.184.779/0001-01

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type
Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type
0 0.0000
0.0000
0.0000

Closing Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Banco Bradesco BBI S.A CPF/CNPJ: 06.271.464/0001-19

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type Total
of Shares

0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

Same type of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Banco Bradesco BERJ S.A CPF/CNPJ: 33.147.315/0001-15

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type Total
of Shares

0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Banco Bradesco Cartões S.A CPF/CNPJ: 59.438.325/0001-01

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type Total
of Shares

0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type Total of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Banco Bradesco Financiamentos S.A CPF/CNPJ: 07.207.996/0001-50

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type Total
of Shares

0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

Same type of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Banco CBSS S.A CPF/CNPJ: 27.098.060/0001-45

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type Total
of Shares

Common Shares

Non-Voting Shares

Closing Balance

Quantity

% of participation
Same type Total
of Shares

0 0.0000 0.0000
0.0000

Type of Securities/Derivatives Quantity % of participation

Same type Total of Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Baneb Corretora de Seguros S.A CPF/CNPJ: 14.560.304/0001-18

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

Same type

Total

of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation

Same type

Total

of Shares

0 0.0000

0.0000

Closing Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

Same type of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Bankpar Brasil Ltda CPF/CNPJ: 34.046.581/0001-14

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

Same type

Total

of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation

Same type

0 0.0000

0.0000

0.0000

Closing Balance

Type of Securities/Derivatives

Same type Total of Shares

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Quantity

% of participation

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Bankpar Consultoria e Serviços Ltda CPF/CNPJ: 67.529.289/0001-01

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

Same type

Total

of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation

Same type

0 0.0000

0.0000

0.0000

Closing Balance
Type of Securities/Derivatives

 Same type
 Total of Shares

 Common Shares
 0 0.0000 0.0000

 Non-Voting Shares
 0 0.0000 0.0000

Quantity

% of participation

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Barinas Holdings S.A CPF/CNPJ: 15.011.336/0001-27

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type Total
of Shares

Common Shares

Non-Voting Shares

Closing Balance

Quantity

% of participation
Same type Total
of Shares

0 0.0000 0.0000
0.0000

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BCN - Consultoria, Administração de Bens, Serviços e CPF/CNPJ:

Name: 52.842.408/0001-04 Publicidade Ltda

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type Total of Shares

Common Shares 0.0000 0.0000 0 Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Total Same type

of Shares 0 0.0000

Common Shares 0.0000 Non-Voting Shares 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: BEC - Distribuidora de Títulos e Valores Mobiliários Ltda CPF/CNPJ: 07.299.480/0001-82

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	% of participation		
		Same type Total		Total
		of Shares		
Common Shares		0	0.0000	0.0000
Non-Voting Shares		0	0.0000	0.0000
Closing Balance				
Type of Securities/Derivatives	Quantity	% of participation		
		Sa	ame type	Total
		0	f Shares	
Common Shares		0	0.0000	0.0000
Non-Voting Shares		0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: BEM - Distribuidora de Títulos e Valores Mobiliários Ltda CPF/CNPJ: 00.066.670/0001-00

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	% of participation		
	-	Same type Total		Total
		of Shares		
Common Shares		0	0.0000	0.0000
Non-Voting Shares		0	0.0000	0.0000
Closing Balance				
Type of Securities/Derivatives	Quantity	% of participation		
		Sa	ame type	Total
		0	f Shares	
Common Shares		0	0.0000	0.0000
Non-Voting Shares		0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: BF Promotora de Vendas Ltda CPF/CNPJ: 02.038.394/0001-00

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type Total
of Shares

Common Shares

0 0.0000 0.0000
Non-Voting Shares

0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

Same type of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BMC Asset Management - Distribuidora de Títulos e Valores CPF/CNPJ:

Name: Mobiliários Ltda 04.163.016/0001-76

Qualification: Controlled / Related Company

Openning Balance

oponing Balanco				
Type of Securities/Derivatives	Quantity	% of participation		
		Sa	ame type	Total
		of Shares		
Common Shares		0	0.0000	0.0000
Non-Voting Shares		0	0.0000	0.0000
Closing Balance				
Type of Securities/Derivatives	Quantity		% of partic	pation
		Sa	ame type	Total
		0	f Shares	
Common Shares		0	0.0000	0.0000
Non-Voting Shares		0	0.0000	0.0000
•				

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: BMC Previdência Privada S.A CPF/CNPJ: 07.622.099/0001-02

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type Total
of Shares

0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Shares

Total

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: BP Promotora de Vendas Ltda CPF/CNPJ: 07.131.760/0001-87

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type Total
of Shares

Common Shares

Non-Voting Shares

Quantity

% of participation
Same type Total
of Shares

0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Bpar Corretagem de Seguros Ltda CPF/CNPJ: 43.133.503/0001-48

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type
Total
of Shares

Common Shares

0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type Total of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: BPS Participações e Serviços Ltda CPF/CNPJ: 02.858.535/0001-23

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type
Total
of Shares

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type Total of Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Bradescard Elo Participações S.A CPF/CNPJ: 09.226.818/0001-00

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

of Shares

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Closing Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

Same type of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Bradesco Administradora de Consórcios Ltda CPF/CNPJ: 52.568.821/0001-22

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type
Total
of Shares

Common Shares

0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000 0.0000

Closing Balance
Type of Securities/Derivatives
Quantity
% of participation

Same type Total of Shares

Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Bradesco Auto/RE Companhia de Seguros CPF/CNPJ: 92.682.038/0001-00

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

Same type

Total

of Shares

Common Shares

0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Bradesco Capitalização S.A CPF/CNPJ: 33.010.851/0001-74

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

of Shares

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type Total of Shares

Common Shares 0 0.0000 0.0000
Non-Voting Shares 0 0.0000 0.0000

56

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Bradesco Leasing S.A. - Arrendamento Mercantil CPF/CNPJ: 47.509.120/0001-82

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type
Total
of Shares

Common Shares

0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type

Total

Same type of Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CPF/CNPJ:

Name: Bradesco S.A. Corretora de Títulos e Valores Mobiliários 61.855.045/0001-32

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives	Quantity	% of participation		
		Same	Total	
		type of		
		Shares		
Common Shares	1,926	0.0000	0.0000	

Non-Voting Shares 6,995 0.0002 0.0001

Movimentação no Mês

Movimentação no Mes							
Valor	Características I	Intermediário	o Operação	Dia	Quantity	Preço	Volume (R\$)
Mobiliário/Derivati	vo dos Títulos						
Commor	n Shares		Buy	3-Dec	686	25.96	R\$ 17,808.56
Commor	n Shares		Buy	8-Dec	131	24.42	R\$ 3,199.02
Commor	n Shares		Buy	10-Dec	90	24.92	R\$ 2,242.80
Commor	n Shares		Buy	11-Dec	652	23.91	R\$ 15,589.32
Commor	n Shares		Buy	14-Dec	79	23.28	R\$ 1,839.12
Commor	n Shares		Buy	16-Dec	13	23.38	R\$ 303.94
Commor	n Shares		Buy	18-Dec	233	22.28	R\$ 5,191.24
Commor	n Shares		Buy	21-Dec	1,084	21.85	R\$ 23,685.40
Commor	n Shares		Buy	22-Dec	1,035	21.59	R\$ 22,345.65
Commor	n Shares		Buy	29-Dec	525	21.55	R\$ 11,313.75
Commor	n Shares		Total		4,528		R\$ 103,518.80
Non-Votin	ng Shares		Buy	2-Dec	242	21.38	R\$ 5,173.96
Non-Votin	ng Shares		Buy	3-Dec	1,424	22.64	R\$ 32,239.36
Non-Votin	ng Shares		Buy	4-Dec	414	21.84	R\$ 9,041.76
Non-Votin	g Shares		Buy	7-Dec	1,106	22.16	R\$ 24,508.96
Non-Votin	g Shares		Buy	14-Dec	1,221	20.75	R\$ 25,335.75
Non-Votin	g Shares		Buy	15-Dec	653	21.08	R\$ 13,765.24
Non-Votin	g Shares		Buy	16-Dec	83	21.13	R\$ 1,753.79
Non-Votin	g Shares		Buy	21-Dec	1,345	19.94	R\$ 26,819.30
Non-Votin			Buy	22-Dec	21	19.58	R\$ 411.18
Non-Votin	g Shares		Buy	29-Dec	1,378	19.80	R\$ 27,284.40
Non-Votin		Bradesco	Buy	30-Dec	362	19.75	R\$ 7,149.50
	•	S.A. C.T.V.N	Л				

Edgar Filing: BANK BRADESCO - Form 6-K

Total		8,249		R\$ 173,483.20
Sell	1-Dec	148	24.27	R\$ 3,591.96
Sell	2-Dec	179	24.41	R\$ 4,369.39
Sell	4-Dec	479	25.09	R\$ 12,018.11
Sell	7-Dec	436	24.94	R\$ 10,873.84
Sell	9-Dec	50	24.96	R\$ 1,248.00
Sell	15-Dec	619	23.43	R\$ 14,503.17
Sell	17-Dec	483	23.25	R\$ 11,229.75
Sell	23-Dec	921	21.60	R\$ 19,893.60
Sell	28-Dec	1,195	21.55	R\$ 25,752.25
Sell	30-Dec	386	21.50	R\$ 8,299.00
Total		4,896		R\$ 111,779.07
Sell	1-Dec	1,284	21.37	R\$ 27,439.08
Sell	8-Dec	307	21.50	R\$ 6,600.50
Sell	9-Dec	425	22.12	R\$ 9,401.00
Sell	10-Dec	665	22.04	R\$ 14,656.60
Sell	11-Dec	609	21.33	R\$ 12,989.97
Sell	17-Dec	885	20.97	R\$ 18,558.45
Sell	18-Dec	204	20.24	R\$ 4,128.96
Sell	23-Dec	1,848	19.56	R\$ 36,146.88
Sell	28-Dec	1,263	19.66	R\$ 24,830.58
Total		7,490		R\$ 154,752.02
Closing Balance	е			
	Sell Sell Sell Sell Sell Sell Sell Sell	Sell 1-Dec Sell 2-Dec Sell 4-Dec Sell 7-Dec Sell 9-Dec Sell 17-Dec Sell 23-Dec Sell 30-Dec Total Sell 1-Dec Sell 9-Dec Sell 10-Dec Sell 11-Dec Sell 11-Dec Sell 11-Dec Sell 13-Dec Sell 23-Dec Sell 28-Dec	Sell 1-Dec 148 Sell 2-Dec 179 Sell 4-Dec 479 Sell 7-Dec 436 Sell 9-Dec 50 Sell 9-Dec 619 Sell 17-Dec 483 Sell 23-Dec 921 Sell 28-Dec 1,195 Sell 30-Dec 386 Total 4,896 Sell 1-Dec 307 Sell 8-Dec 307 Sell 9-Dec 425 Sell 10-Dec 665 Sell 11-Dec 609 Sell 17-Dec 885 Sell 18-Dec 204 Sell 23-Dec 1,848 Sell 28-Dec 1,263 Total 7,490	Sell 1-Dec 148 24.27 Sell 2-Dec 179 24.41 Sell 4-Dec 479 25.09 Sell 7-Dec 436 24.94 Sell 9-Dec 50 24.96 Sell 9-Dec 619 23.43 Sell 15-Dec 619 23.43 Sell 17-Dec 483 23.25 Sell 23-Dec 921 21.60 Sell 23-Dec 921 21.60 Sell 23-Dec 1,195 21.55 Sell 30-Dec 386 21.50 Total 4,896 Sell 1-Dec 1,284 21.37 Sell 30-Dec 307 21.50 Sell 9-Dec 425 22.12 Sell 10-Dec 665 22.04 Sell 11-Dec 609 21.33 Sell 17-Dec 885 20.97 Sell 18-Dec 204 20.24 Sell 23-Dec <t< td=""></t<>

Type of Securities/Derivatives Quantity % of participation

Same Total type of Shares

 Common Shares
 1,558
 0.0000
 0.0000

 Non-Voting Shares
 7,754
 0.0003
 0.0001

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Bradesco Saúde S.A CPF/CNPJ: 92.693.118/0001-60

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation
Same type
Total
of Shares

Common Shares

0 0.0000 0.0000

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Closing Balance

Type of Securities/Derivatives